# **Scarborough Primary School**



YEAR FOUR 2017

17 311 04 B

# PLEASE ORDER ONLINE AT <u>www.campion.com.au</u> USING "RUNH" AS YOUR CODE BEFORE Friday 9th December 2016

OR SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BELOW

#### **ALL ORDERS MUST BE PREPAID**

#### PREPACKAGED DELIVERY SERVICE

STUDENT GIVEN NAME(s)								_	STUDENT SURNAME															
ELIVER	/ ADD	RESS	(For ea	sv De	livery	Pare	nt Nan	ne 8	 ₹ Work	Δddr	_l 'ess	nrefe	red)						J	L	!_	<u> </u>		
					<u></u>				110111	1	1													
$\dashv$	_	_	$\vdash$	_	-	_	_	$\dashv$		+	+	+-	$\vdash$		_	+	+	+	-			-	-	$\vdash$
											Т							П						
ll UBURB																						ST C	ODE	
UBUKB		$\neg$	П					П		$\neg$	$\top$	Т					$\top$	Т			F	731 (	JODE	Т
ARENT/	<u>GUAR</u>	<u>DIẠN N</u>	OBILE	/PHO	NE NU	MBE	R																	
MAIL AD	DRES	S REG	UIRED	<u> </u>																				
STUDEN																								
			`DED	IT CA	DD I	DEF		EN	IT - W		)	DDO	`E 0 0	-ED	A T T	ME	0E 0	DDE	:D [	ITD\	,			
_		_	- -	II CA	KD F	KEF	ATIVI	EN	- 77	ILL E	)	KU	,E33	י טםפ	4 i i		<u> </u>	KDE	K E	VIK			_	
Mas	terCa	d	Visa		Ca	ard No	o.:																	
			_				_				_				_									
Expiry Da	ate:		7 [				C	ardl	holder'	s Nan	ne:													
	L		IJ L								_													-
ignature	:																							
						▼.	TEA	١R	OFF	SLI	P -	PLE	ASE	RE	TAI	N_▼								
rders p					f date	- Fri	iday 9	th I	Decer	nber	201	6 inc	lude	a \$4	deliv	ery f	ee. C	)rder	s rec	eive	l afte	this	date	
icur a fe	e of i	up to \$	317.50	).																				
lease n	ote. /	ny or	dare h	oina :	raturn	ad to	Cam	nic	n hv	mail r	mue	t ha r	بامعو	rad t	אט קי	ave r	rior f	o the	Cut	off da	te et	tha t	on of	thic
age to e	ensur	e your	order	does	not i	ncur	a late	fe	e.	ııalı I	iius	i De I	CCCI	reu t	wo u	ayo þ	, 101 t	o ule	cut	on uc	iic al	uici	op oi	นแอ
our hon	ne de	livery	order	will be	e disp	atch	ed the	e w	eek e	nding	6th	ı Jan	uary	2017	<b>'</b> .									
ouo																								
001 11011																								
ou. 11011																								



Campion Education (Aust) Pty Ltd A.B.N.: 33 074 318 602 7 Oxleigh Drive, MALAGA WA 6090 Phone: 08 62402778

www.campion.com.au - Email: wasales@campion.com.au

## RESOURCE LIST INSTRUCTIONS

#### **HELPING YOUR SCHOOL / COLLEGE**

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

#### **OPTIONS TO ORDER**

#### **HOME DELIVERY**

- Order online at <a href="https://www.campion.com.au">www.campion.com.au</a> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
  - You may also post direct to Campion: 7 Oxleigh Drive Malaga, 6090 before the due date on the front of your list.(No cash accepted)
  - We recommend you use a Business address for delivery as all parcels must be signed for. If you are not home to receive your parcel it will have to be collected from the relevant Post Office.
- Late Orders
  - Orders placed online after the cutoff date are considered a late order and will incur a postage and handling fee of \$5.50 per item to a maximum of \$17.50.
  - Delivery of these orders cannot be guaranteed prior to the commencement of the school year.

#### While You Wait Service (Malaga or Willetton)

Please note long delays will be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

#### **Have a Question?**

 Please go to www.campion.com.au for further information on account based ordering, store locations, digital support and other general enquiries.

#### **REFUNDS**

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to February 2017 or 2 weeks after the purchase date (whichever is later).

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

#### **TRADING HOURS**

Monday - Friday

9:00am - 5:00pm

#### **Extended Trading Hours**

Saturdays 8:30am - 2.00pm **14th Jan 2017 - 4th Feb 2017** 

**INSTPRIHDWA** 

# Please tick the items required in the box provided $\downarrow$

				$\checkmark$			
Office Use	Description		Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	RESOURCE LIST						
	PERSONAL ITEMS FOR STUDENT USE						
P55110	Binder A4 2D Ring PVC 25mm Black		1		1	4.50	4.50
P55268	Calculator Jastek Basic Compact 8 Digit		2	$\Box$	1	15.50	15.50
P55320	Clipfolder A4		3		1	3.95	3.95
P51601	Diary A5 Student Collins 2017		4		1	1.95	1.95
	(New Edition for 2017)			_			
P55446	Display Book A4 20 Pocket Green Refillable		5		2	1.95	3.90
P50883	Document Envelope A4 PP With Press Stud Green		6		1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve		7		1	0.40	0.40
P55654	Glue School Stick UHU Blue 40 gm		8		2	3.30	6.60
P56210	Handy Pouch A4 (320mm x 240mm)		9	_	1	5.95	5.95
P56211	Handy Pouch Pencil Case 345mm x 140mm		10	_	2	2.95	5.90
P55709	Index Dividers A4 5 Tab (Board)		11	_	1	0.95	0.95
P50105	Markers Micador Basics Fine Tip Pk 12		12	_	1	1.90	1.90
	Please purchase the specific exercise books listed below.			_			
P51614	Exercise Book A4 PP Cover 12mm 48 page		13		8	1.25	10.00
P51629	Grid Book A4 PP Cover 10mm 48 page		14	$\overline{\Box}$	2	1.30	2.60
P50858	Marker Permanent Pentel Bullet Black		15		1	1.65	1.65
P50440	Pen Stabilopoint 188 Black		16		2	2.25	4.50
P50940	Scissors 14cm Comfort Grip		17		1	3.65	3.65
P56095	Pen Ballpoint Cap Type Blue Medium		18		2	0.35	0.70
P56096	Pen Ballpoint Cap Type Red Medium		19		2	0.35	0.70
P50006	Pencil (HB) Micador Essential		20		8	0.35	2.80
P51157	Highlighters Micador ECO Wallet Pack 4		21		1	2.95	2.95
P52001	Pencil (2B) Goldfaber		22		1	0.55	0.55
P50208	Pencils-Coloured Columbia Pkt 12's		23		1	2.30	2.30
P51181	Quartet Basics Asst Whiteboard 220x280mm		24		1	20.15	20.15
P50090	Ruler 300mm Wooden		25		1	1.10	1.10
P56242	Sharpener Pencil Barrel Double Hole (EL)		26		1	2.05	2.05
P60095	Whiteboard Marker Lumocolor Wallet 4		27		1	12.95	12.95
P03614	New Wave Mental Maths Workbook D (Rev edn) [Krajcar]		28		1	12.95	12.95
	SUB-TOTAL	_\$134.35					
	SCHOOL CONTRIBUTIONS						
	Voluntary School Contribution		29		1	60.00	60.00
	Voluntary P & C Contribution One Child		30		1	40.00	40.00
	Voluntary P & C Contribution Two Children		31		1	60.00	60.00
	Voluntary P & C Contribution Three or more		32		1	75.00	75.00
	PARENTS TO SUPPLY						

#### **PARENTS TO SUPPLY**

<sup>2</sup> x Boxes of Tissues

<sup>1</sup> x Pair of clean socks (whiteboard eraser)

<sup>1</sup> x Pack Sheet Protectors

### Please tick the items required in the box provided $\downarrow$

 Item
 Item
 Qty
 Unit
 Total

 Office Use
 Description
 No. Reqd
 Reqd
 Price \$ Amount \$

Number of Boxes ticked:

Delivery, packaging & handling \$4.00

ESTIMATED AMOUNT DUE
(PRICES CORRECT AT 02/11/16)

\$